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QUESTION 1

Which of the following best describe the general steps involved in normalization?
A. Change the character set of the tables to normalize.

B. Remove repeating groups within rows.

C. Remove duplicate data within columns.

Correct Answer: A

QUESTION 2

Consider the following: mysql> EXPLAIN SELECT Name FROM Country WHERE Population BETWEEN 1 AND
10000\G *#**rkthkdkkthikkkitikkkkk ] | pou Fxkkktikorkeokor jd: 1 select_type: SIMPLE table: Country type: range
possible_keys: i_pop key: i_pop key_len: 4 ref: NULL rows: 10 Extra: Using where What is the meaning of the range
value of the type column?

A. There is a range of indexes that can be used.

B. The type of index uses the range algorithm.

C. The index is used to select rows that fall between a range of index values.

D. The optimizer has determined that only data from the very beginning or the very end of the table is needed

Correct Answer: C

QUESTION 3

Which of the following correctly describe the purpose of the sort buffer, and when it is set?

A. The size of the sort buffer is set per-connection.

B. The sort buffer is global and the size can only be set by restarting the server.

C. The sort buffer is used to control the maximum number of sorts the server can perform simultaneously.

D. The sort buffer is used for operations such as ORDER BY or GROUP BY which can speed up sorting operations.

Correct Answer: D

QUESTION 4

mysql> EXPLAIN SELECT * FROM City WHERE CountryCode = \WUSAW\G *+#kkkktirsirrtiorirst 1 row
sk i 1 select_type: SIMPLE table: City type: ALL possible_keys: NULL key: NULL

key_len: NULL ref: NULL rows: 4079 Extra: Using where What does it mean that the possible_keys column value is
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NULL?

A. No index is considered available for this query.
B. No index exists for the table you are querying.
C. You are not making use of any available indexes in your query.

Correct Answer: A

QUESTION 5

Can multi-column FULLTEXT indexes be used? If so, when?

A. No, they can not be used.

B. Yes, they should be used to search multiple columns simultaneously.

C. Yes, they can be used to search either one or all of the indexed columns.

Correct Answer: B
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